1. y=xoldHEstl x=2d o, y=6°lch. x=3 <L o,y o] k=
T-3tefzt.

@1 @ 4 ® 5 @7 ® 9






7} okl 2t 2o

==

3.

yl\

A =0 =R

Lol
Q@ ©
— R R
Il I
-~ A~
Q@ @



|
=

iy
o
Kl
i

the 54 FoIA x of ol | g Holw Hol B 4 ¢l
™H9

@® 5x-(3-x)=6
@ 4-(x+3)=2x-(3x-2)
® 4x2—2(2x2+3):4x

@ -(2x-3)+5=2(4+x)
3x+1  4x-1
© 4 3




2 I 5

gt 7l 400 A1 A2 3F Aol 600 D] L AE st
ME AHL 8900 ¥ A&t EY 300 Y& AL FAUch AF=

= NE A=A 2H?

® 2 7 @ 4 7 ® 6 7N @ 8 74 ® 10 /A



25

AF7+e

il
A

o] Al A A(-4,4),B(2,4),C(-2,2) & &
BC 9| geol&?

@ 12 3 15 @ 18

>

)
o
tu



7. xy<0, x>y @, ta F AAEE Al e H2?

@ (-x, x-y) @ (v, x) ® (y-x 0)
@ (x, -y) ® (-x, xy)



®© ® ©@ ® ©

St Ao x @ sh= Fol 30 Fol a2y o

AAZ ] 3 WMol Ao] xem & 1 E89] Zo] yem
1L o 1320 ¥ ot= 2R xL 2 gty €@

A x o 7V APke 4D y



olel u7b 2 3 : 5 9 Ackel B

F?

g vtz 75

o]

@ 12 ® 20 @ 28 ® 32

@ 8



10.

2]
o]

o
A2 elsto] ot 7to] thshAlE 289 oo A1
2719 971

D 5000Y @ 5500¢ ® 6000

@ 6500 ® 7000

1 =709] Y7tell 389 olel& Eof F7HE mi7]aL, A7l A 500

A et



MMﬂE
e

i

EMM
o o

o e
o K
o

N¥ o
N
_nHOL_,_
R
= —
S o) X
%Mowml
N Mo R
Ltmﬁ_mvﬁ
5 o 12
o & X
2 - o
ﬁquﬂo
o}l

g,
,Aq_mﬂ_mo
o o B
_nHHT_w_l'
B N
ﬂAHo_DZT
B K

__OT
NF

__OT
NF

__oT
N

__o_l
N

__o_l
N



offl AL Sh B 49 18 Y, LML 20 Q AT Atk AA
ge Bo] go] Ug ok, B B2 497 4L o, A gL 2
H7E R BHe 42 Bolrb 2 ek Sk o] A& st
o A9 v Bt ASHFETN

O 3¢ @ 5¢ ® 7¢ @ 10¥ ® 149



13. ohg x o T A A7F =1 2 w0 9] 72
1
|X—a|—|—§x:6a
@®

@) @1 @

| ot
~| oo

~| o

~N|©



14. o= F QAAA L si7F 2 ul, A a o] #he FokeiEt

a 2 1

Y — . — 1
IS
“x *
T3 - ©

© 2 @ 4 ® 6 @ 8 ® 10



15.

HAAFEF] 10 ¢, 50 ¥, 100 ¥, 500 L&A FHE 40 7 7HA L
At 10 9AE] 42 100 98] FHET 4 7F A1, 100 A
AL 50 YA FHEG 7 ) 2, 500 A S 10 YAt
TR 5 N7F Aohar o, A ol7 7k A Qe 10 YAtE] FHS
2 7172

® 57 @ 7 M @ 9 7 @117 ® 13 7



